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VIN
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Ta=25
VIN Vss-0.3~7.0 \
louT 500V mA
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USP-3 120
*1 Pd mw
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Tstg —-55~+125
*1 louT Pd/(VIN-VOUT)
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Ta=25
MIN. | TYP. | MAX,
. VIN=VOUT(T)+1.0v .
(2) .08
VOUT(E) OUT=1mA E-0 Y
0.9V VOUT(T) 1.3V
VIN=VOUT(T)+1.5V
Vioad 1mA IOUT 100mA ) 15 70 v
VOUT(T) 1.3V
VIN=VOUT(T)+1.0V
1mA IOUT 100mA
vdif1®® IOUT=30mA E-1(9 mv
2 vdif2®® IOUT=100mA E-1(® mv
ISS VIN=VOUT(T)+1.0V - 1.0 5.0 HA
VOUT(T)=0.9V
1.5V VIN 6.0V
IOUT=1mA
Viine - 0.05 | 0.15 %IV
VOUT(T) 1.0V
VOUT(T)+0.5V VIN 6.0V
IOUT=1mA
VIN 15 - 6 \Y -
VIN=VOUT(T)+1.0V
VOUT (T)
—To r VOUT IOUT=1mA - +100 - ppm/
P -40 Topr 85
VOUT=VOUT(E)><0.95
0.9V VOUT(T) 1.5V 200 300 -
VIN=2.6V
Ilim mA
VOUT=VOUT(E)><0.95
VOUT(T) 1.6V 250 300 -
VIN=VOUT(T)+1.0V
VIN=VOUT(T)+1.0V
Ishort VOUT=0V - 50 - mA
*1: VOUT(T) :
*2 : VOUT(E) :
IouUT VIN(VOUT(T)+1.0V)
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: vdif = {VIN1® - vOoUT1)}
VIND ;

E-0 E-1:
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VOUT(T) 1.5V
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VOUT(T) 1.5V
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Ta=25
E-0 E-1
2.0%
) (mV) (mV)
VOUT(E) vdifl vdif2
VOUT(T)

MIN MAX TYP MAX TYP MAX
0.9 0.870 0.930 460 900 850 1450
1.0 0.970 1.030 370 760 750 1300
1.1 1.070 1.130 300 650 680 1190
1.2 1.170 1.230 240 540 600 1070
1.3 1.270 1.330 190 420 530 950
1.4 1.370 1.430
15 1.470 1.530 160 340 470 840
16 1.568 1.632
1.7 1.666 1.734
1.8 1.764 1.836 110 200 350 610
1.9 1.862 1.938
2.0 1.960 2.040
21 2.058 2.142
2.2 2.156 2.244 90 150 290 480
2.3 2.254 2.346
2.4 2.352 2.448
25 2.450 2.550
2.6 2.548 2.652
2.7 2.646 2.754 70 120 240 370
2.8 2.744 2.856
2.9 2.842 2.958
3.0 2.940 3.060
3.1 3.038 3.162
3.2 3.136 3.264
33 3.234 3.366
3.4 3.332 3.468
35 3.430 3.570 60 100 200 320
36 3.528 3.672
37 3.626 3.774
3.8 3.724 3.876
3.9 3.822 3.978
4.0 3.920 4.080
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tr=tf=5p1s VIN=1.9V tr=tf=5ps VIN=1.9V
CIN=0.1p4F ceramic ,CL=0.1j4F ceramic CIN=0.14F ceramic ,CL=1.0j4F ceramic
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Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Voltage: VOUT (V)

Output Current:

Output Current:

Output Current:

250

200

150

IOUT (mA)

50

40

30

IOUT (mA)

20

10

250

200

150

IOUT(mA)

XC6218P202
tr=tf=5pus VIN=3.0V
CIN=0.1puF(ceramic) CL=1.0pF ceramic

-
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IOUT=1mA VIN=0V 19V CL=0.1p4F ceramic IOUT=1mA VIN=0V 3.0V CL=0.1jF ceramic
3 6
5 _ 37 5
2 s ( s
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£ = £ ]
[¢) f o
-2 /V 1 -1 / — 1
-3 0 -2 ‘ 0
Time (50 s/ div) Time (100 s/ div)
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